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1. Solve the ODE: (e + ye’ )dx +(xe’ ~1)dy=0.  (20%)
2. Solve the ODE: y"+4y'+4y =e " cosx. (20%)

3. Find the Laplace transform for the following function f'(¢):

cosh2t, for 0<t<2
0, otherwise

(@)f () =e" cos(nt)(7%) (b)f (1) = {

4.(a)Show that j_w e“dx=\r/a. (5%)

(b)Find the Fourier transform of Gaussian function f (x)=e™. (15%)

5. (a)Calculate the integrtal Ef,« ¢ dz = ?where the contour C:| z|=1.1.
C(z—l)z(z+4)2” S

(z 1s a complex number and the contour is countercolckwise.)  (10%)

(b)Find the Laurent series of f (z) = for the region of [z>2. (10%)
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(7%) () f(t)=te™ sint(6%)




